Section 28.1: contd

Wednesday, January 10, 2018 10:22 AM

recall:

$$\frac{d}{dx}\left(S_{1}^{-1}x\right) : \frac{1}{\sqrt{1-x^{2}}} \implies \frac{d}{dx}\left(S_{1}^{-1}u\right) : \frac{1}{\sqrt{1-u^{2}}} \frac{dv}{dx}$$

so what about

$$\frac{\Delta}{\Delta x} \left(\sin^{-1} 3x \right) = \frac{1}{\sqrt{1 - \left(5x \right)^2}} \cdot 3 = \frac{3}{\sqrt{1 - 9x^2}}$$

$$\frac{\Delta}{\Delta x} \left(\sin^{-1} \frac{x}{a} \right) = \frac{1}{\sqrt{1 - \left(\frac{x}{a} \right)^2}} \cdot \frac{1}{a}$$

$$= \frac{1}{\sqrt{1 - \frac{x^2}{a^2}}} \cdot \frac{1}{a}$$

$$= \frac{1}{\sqrt{1-\frac{x^2}{a^2}a^2}}$$

$$\frac{1}{\sqrt{a^2-x^2}}$$

Similarly,
$$\frac{d}{dx}\left(\frac{1-x^2}{x}\left(\frac{x}{a}\right)\right) = \frac{1}{1+(\frac{x}{a})^2} \cdot \frac{1}{a}$$

$$= \frac{1}{1+x^{2}/a^{2}} \cdot \frac{1}{a}$$

$$= \frac{1}{a+x^{2}/a} \cdot \frac{a}{a}$$

$$= \frac{a}{a^{2}+x^{2}}$$

$$= \frac{1}{a^{2}+x^{2}}$$

$$= \frac{1}{a^{2}+x^{2}} \cdot \frac{a}{a}$$

$$= \frac{1}{a^{2}+x^{2}} \cdot \frac{a}{a}$$

$$= \frac{1}{a^{2}+x^{2}} \cdot \frac{a}{a}$$